SECTION 5-5: SUBSTITUTION (DAY 2)

sec?(x)
1. Compute / tan(z)

: A - (e (N = du_ = o
L-L"' u= tan X- 71«:/\ A X ( (S:U—CY-SV JK

<y f(% A = f(g«f)f du _ fi‘_u_ A

(sec Y ~

| @] +c.

v

2. Compute/secQ(a:) tan(z) dz = fg(_cba ( SLC(X:BW &)‘) 4(& .
et us 8- Than  du = S (d4anl) dye So

fgec(Q‘Scc(QW&)C/x= f'kﬂ&& = _bt_2+c = @L4c
= .

3. Compute 1f2)(f()€) df

Leb w= 14 cos 0 - Than %:—8}49—% e o go. So
—36

S\ %Mg A.Q - $?49‘
14-cos b w —sMQ = - (u

= - dulul+c - ~,&«(l+w59[ +C .
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4. Compute / ZIn(D) dx

Leb u= L (%) - Tl %E‘-: -)'? o Xdu=z di. Thewas

f xlmca dy = f#-:(xdu\ = f—,; de= ol +¢ = a6 +c.

5. Compute / sm(x# dx

R I S NPy

— ¢ -

Tafre | 3‘“)((:@ de - f a (W) (ﬁ(u IS

= -Ti" (- s (W) + ¢ = .:_‘Co%(c%) ‘e

cack: & (Fos(%)+c)aFoia(%) (%) - s‘(;(:&)‘/

x

6. Compute / exe_ 3 dx
Lk w=e®-3. Then du = e$ds(. Co
K<
g% = !'ll—du.= _&,\[u,li-c

e -2

U

jule)‘-'-Sl tC
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1 _ -, S ¢
7.Compute/9+—x2dw = \( ?(""%‘ C\": f‘i(h‘- (%)2 o

= : de. Lt u= L o du_ -
qfw(-"gyx “T 3 2 fYeq o 3dusd
( ' dy = L | (3cm=_‘f'zd
g”ff e (5 "tf'*uz 3 e
=3 arclea(w) +c = % ar-cton _g_)J,C
8. Compute / Vz(zt +z) do
_ v 7/, 34
—fxz(xq+x3c(y= fx S x T
19/
St
14./?_ ’?/_:"i(. LZ%T + 023;_ 4+ C

9. Compute / cos(z) sin(sin(z)) do

LA w= sin6D- “Then -4&= Cos (x) = du =dx. %%

Ax co3 (%)
fCO‘R(K\ Sn‘f\[&‘n(\a} d\( = f@)’(@ Sia (M\ (%@3 = fsl‘,l(u\c(q
= - eosluwd v = —og( 96D +c
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10. Compute 4 [zIn(x) — z]. Then compute [ s?In(s®) ds
X

M% (x .Qn(\a—)(\ = X J)? + 2 — 1 2 (.
= du =ds.

2 3 _ .3 A - 2
To Lompute fs La(5)d s, Lot =52 Tlan ;Lf‘-_ 3s e

So [ ule®) RO IR PNV

O bserye f (xb\(\g\ -x%) = ), so f-@n(k\ de = xM6D-x +¢. $q
1 @%ﬂn(s's) s+ e

L (onlddus § (nlatd-) +c -

11. Compute /a:\/w — 1 dx (Hint: Let v = = — 1. What is x in terms of u?)

Lo+ w= X-1. Thwn X=u+rly, and dx=dy. So

SK [x-1 dy = ‘((‘&“\\): du = J‘MZ/7.+“‘/-:_ du
3

- 2, /U%u ‘e

tl

=
%(K DR 2—( )3/"

3 3
12. Compute / (@) dx
17 AX

\ & X=1 u= Lald 4 "-\x=3 u=Anlz). 3o

D (D L3
L QY2 y e
(5 el [ (cdiy o [0 ul |
' La (0 L (1) v o
= Qn(":)\w_ 0 = (lu(?’))*f
* 4
4
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